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QUESTION 1

Which IPS command debug tool can you use for troubleshooting IPS traffic? 

A. ips debug traffic –o IPSdebug 

B. ips debug –f /var/log/IPSdebug.txt 

C. debug ips enable –o IPSdebug 

D. ips debug –o IPSdebug 

Correct Answer: D 

Reference: https://sc1.checkpoint.com/documents/R76/CP_R76_CLI_WebAdmin/84627.htm#o84632 

 

QUESTION 2

Which daemon is used for Geo protection? 

A. in.geod 

B. cphamcset 

C. fwd 

D. cpd 

Correct Answer: A 

Reference: https://supportcenter.checkpoint.com/supportcenter/portal?
eventSubmit_doGoviewsolutiondetails=andsolutionid=sk97638 

 

QUESTION 3

Static NAT has been configured and NAT rules were created automatically. The global properties option "Translate
destination on client side" is not checked. Clients are complaining that they are not able to connect to one of your web
servers using its public address. How would you solve the problem without changing the global properties and
reinstalling the security policy? 

A. On the security gateway, add a static route for the web server\\'s public ip address 

B. Rebooting the security gateway will resolve the problem 

C. You will have the global properties and reinstall the security policy 

D. Configure manual NAT 

Correct Answer: D 
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QUESTION 4

An organization has 3 sites; 1 Headquarters (HQ) site and 2 remote sites. The remote sites are connected to the HQ
through site-to-site VPNs and phone communication is done using standard SIP. There is an issue with VOIP calls
where one side cannot hear the other over the phone. As a test, they decide to disable protocol inspection for SIP. How
can this be achieved? 

A. Select the existing SIP Service, change the Protocol type to None 

B. Create a new UDP 5060 service, change the protocol type to None 

C. Create a new TCP 5060 service, change the protocol type to None 

D. Select the existing SIP service, change the protocol to None in advance settings. 

Correct Answer: D 

 

QUESTION 5

What is the command to check the number of CoreXL firewall instances? 

A. show corexl stat 

B. fw ctl multik stat 

C. coreXL_admin stat 

D. fw ctl corexl stats 

Correct Answer: B 
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